






#include  <msp430g2231.h>
void main(void)
{
  WDTCTL = WDTPW + WDTHOLD;                 // Stop WDT
  P1SEL |= 0x06;                            // P1.1 - P1.2 option select
  P1DIR |= 0x07;                            // P1.0 - P1.2 outputs
  CCTL0 = OUTMOD_4 + CCIE;                  // CCR0 toggle, interrupt enabled
  CCTL1 = OUTMOD_4 + CCIE;                  // CCR1 toggle, interrupt enabled
  TACTL = TASSEL_2 +  MC_2 + TAIE;          // SMCLK, Contmode, int enabled

  _BIS_SR(LPM0_bits + GIE);                 // Enter LPM0 w/ interrupt
}

// Timer A0 interrupt service routine
#pragma vector=TIMERA0_VECTOR
__interrupt void Timer_A0 (void)
{
  CCR0 = 200;                              // Add Offset to CCR0
}

// Timer_A2 Interrupt Vector (TAIV) handler
#pragma vector=TIMERA1_VECTOR
__interrupt void Timer_A1(void)
{
  switch( TAIV )
  {
  case  2: CCR1 += 1000;                    // Add Offset to CCR1
           break;
  case 10: P1OUT ^= 0x01;                   // Timer_A3 overflow
           break;
 }
}

**note:**just put those lines at the bottom of my closed code, so the line numbers are big.at line 451 source or at address 0xF82C, TAIV change from 0x0002 to 0x000A and to 0x0000 after executing three consecutive assembly step into PUSH R15JMP (Label)MOV.W &TAIV,R15 



i think this is a bug, don't you?


